Free Inductive/Logical Test
Questions

(Questions only)

JobTestPrep invites you to a free practice session that represents only some of
the materials offered in our online practice packs. Have a glimpse into the web's
leading online psychometric preparation institute.

What does this test contain?

Non-verbal - Twelve Inductive/Logical Reasoning questions

Full explanations of these non-verbal questions here.

GOOD LUCK!

Job Test Prep
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1- Choose the image that completes the pattern:

AXEHIANNO

Which of the shapes below continues the sequence:

S DUOMIX

2- Choose the image that completes the pattern:

-. .-- ,? .l .

Which of the shapes below continues the sequence:
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3- Choose the image that completes the pattern:
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Which of the shapes below continues the sequence:

o
<

’
L
)

O\
O\

@
&<

@
&<

CD j
eo

[ JAIN
o1V 4

4- Choose the image that completes the pattern:

RIS 2 R

Which of the shapes below continues the sequence:

DR R
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5- Choose the image that completes the pattern:

Which of the shapes below continues the sequence:

6- Choose the image that completes the pattern:
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Which of the shapes below replaces the missing box above?

/

/| ®

Copyright http://www.jobtestprep.co.uk



http://www.jobtestprep.co.uk/

7- Choose the image that completes the pattern:
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Which of the shapes below replaces the missing box above?
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8- Choose the image that completes the pattern:
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Which of the shapes below replaces the missing box above?
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9- Choose the image that completes the pattern:

Which of the shapes below replaces the missing box above?

10- Choose the odd one out:
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11- Choose the odd one out:
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12- Choose the image that completes the pattern:
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Which of the shapes below continues the sequence:

LA ol ol
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Hundreds of practice questions are available in our inductive practice pack >>

Learn more about Non-verbal reasoning test >>
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